the % AL AN Et 32 AL

@®© (bx—-y)+ (3x—2y) =8x—3y
@ (x> +x%2—6x+7)—(2x3 —4x? = 1) = 3x> + 5x* —6x + 8
@ (xy+xy? —x%) = (3x% — xy)
= 2xy + xy? — 4x?
@ (2+1)(3x%2-2x-1)
=3x*-2x3 -2x2 +2x -1
© (x% =3x% =2)°) = (x +y) = 2* —xy = 2



2.

ax> =5x+c =222+ bx—-1A a,b,c 2] 2t



o
Ko lim!
el S Ao] T2 5l Al






5. TR f(x) = 4322 fkx— k7 x+ 12 ool A 22 A k
o gk Hshu?

@ -3 @ -2 ® -1 @0 ®1



6. 3(4x+5m)=PY T, 6(8x+ 107) =7

® 2P @ 4P ® 6P @ 8P ® 18P



B -8x- 128 A5E5E (x-3) |olt} o] m, ogte]

o o)
Ao A 27

D (x+2)? @ (x-2) ® (x+1)?
@ (x-3)2 ® (x+3)2



8. (1252 - 752) + {5+ (30 - 50) + (—4)} 2] &F22

O 75 @ 125 @ 900 @ 1000 ® 1225



9. o2+ 47 +3xE ¥+ 18 Ue UHAE?

D x-1 @ x 31

@ x+3 ® 3x-1



10. ®2+b2+c*2=9, ab+bc+ca=9, a+b+c 3e?

D -3v2 @ -2+3 ® +33
@ +3v2 ® V6



11.

2-3x-2=a(x—1)(x—2)+bx(x—-2) 4+ cx(x—1)©] xof] T3t
o] == 5t uf, 2ab 9] G2



(x) =x* -2 +5x-62 x-2, x- 12 YFAES

22y a, b2t & W, a+ b 9] F2?

@ -2 ® -16 @ 4

wh <]



13. ¥ +ax® +hr—4 x—22 thro] WolA T x4 12 Uil toi 2|7}
6°lc}. a- b Ge Fotelet,

D
=%



14.

xofl TR AR 63 4 ma? 4 nx+ 12 x4+ 12 WA Yy 2] 7} 50]1,
x =22 UFA Y27t 3olth, o] wf, A4 m—n 9] & Fotofet,

D S
=%



15, oA 20 +ax® + bx+ 3 ©] A 2x% - x -3 O & Lppo] ol
o, a+b 9] F27

@ 3 @1 ® -1 @ -2 ® -5



Al
2

® x-2

@ x-1

® x+2

@ x+1

@ x



17. A4
Al 3x1 —5x%2 +4
x— 7L o]xAl LS
e e TE Alﬁfﬁﬂw o] 22 _90]7

O 3x2-2
@ 3x*-1
@ 3x2

@ 3x2
+1
® 3x2+42



18. o 5 Ao A7E Hr=A] ¢k AS 2w

1-x)1+x+x3)=1-x°

24 xy+32) (a2 —xy + %) = 2t + 2%y 4y

@ (

@ (

® (x=-3)(x=2)(x+1)(x+2) = x*-8x> + 12
@ (a-b)(a+b)(a®+b*)(a* +b*) =a® - "
® (

a+b-c)la-b+c)=a*-b*-c?+2bc



19. p= o
24+ 122 +1)(2* + 1)(28 + 1)(2' + 1) 2] Ft2 ot
S F5tH?

32
® 232 -1 @ 232 4+1
® 231 -1

31
@ 231 +1 ® 217 _1



- 1
20. ¥®*-x+1=09¥ 'Iﬂ,x"-i-fsg] P4
X

O -2 @ -1 ® 0

9



I~

21. N2 OE A ASEx, oy, 2ol st 23 +y% + 23 = 3xyz & UHSE ,
x+y+z 9 #2?

@ o @1 ® 2 @ 3 ® 4






23, (x+2)(x=3)(x+6)(x=9)+21x* & AFEHFH (x2+p) (x> +gx—18)
oltt. pg 9] %= F5tofzt.

5
=%



24. Al e A= a, b, coll Hot [a, b, ¢] = (a—b)(a—c)e & i,
la, b, c] +[b, ¢, a] + [c, a, b] = 0°]WA [a, b, ] 2] FF27

Do @1 ® 2 @ 3 ® 4



25.

=x3+x’+ax-2,B=x3-x?—ax+49 Y

T al 727

@1 ® 0 @ -1 ®

310k
o

7t



